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Question Id : 92090627836 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)



Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government's traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAlI and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090627837 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the 'right to walk'.

Statement || : The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is true but Statement |l is incorrect

(4) Statement | is false but Statement Il is correct

Options :

920906110001. 1
920906110002. 2
920906110003. 3
920906110004. 4

Question Number : 2 Question Id : 92090627838 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(n motor bikes often use to go in them.
(2)  Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906110005. 1
920906110006. 2
920906110007 3
920906110008. 4

Question Number : 3 Question Id : 92090627839 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) upD (4) Rural development department (RDD)
Options :

920906110009. 1
920906110010. 2
920906110011. 3
920906110012. 4

Question Number : 4 Question Id : 92090627840 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of 'lacunae’ is:

(1) Characteristic (&) Cavity
(3) Prominent portium (4) Speciality
Options :

920906110013. 1
920906110014. 2
920906110015. 3
920906110016. 4

Question Number : 5 Question Id : 92090627841 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906110017. 1
920906110018. 2
920906110019. 3
920906110020. 4

Question Id : 92090627836 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government's traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAlI and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are reqularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090627837 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the 'right to walk'.

Statement Il : The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement |l is incorrect

(4) Statement | is false but Statement Il is correct



Options :

920906110001. 1
920906110002. 2
920906110003. 3
920906110004. 4

Question Number : 2 Question Id : 92090627838 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1 motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906110005. 1
920906110006. 2
920906110007. 3
920906110008. 4

Question Number : 3 Question Id : 92090627839 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

9209061100009. 1
920906110010. 2
920906110011. 3
920906110012. 4

Question Number : 4 Question Id : 92090627840 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of 'lacunae’ is:

(1)  Characteristic (2) Cavity
(3) Prominent portium (4) Specality
Options :

920906110013. 1



920906110014. 2
920906110015. 3
920906110016. 4

Question Number : 5 Question Id : 92090627841 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1) Private Insight Litigation (2)
(3) Public Independent Litigation 4
Options :

920906110017. 1
920906110018. 2
920906110019. 3
920906110020. 4
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

private Interest Litigation

Public Interest Litigation

2
920906893
Yes

null

Question Number : 6 Question Id : 92090627842 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence;

D] This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

4) This in the best film that | even seeing.

Options :

920906110021. 1
920906110022. 2
920906110023. 3
920906110024. 4

Question Number : 6 Question Id : 92090627842 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sentence;

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906110021. 1
920906110022. 2
920906110023. 3
920906110024. 4

Question Number : 7 Question Id : 92090627843 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct indirect narration for the following sentence:
The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906110025. 1
920906110026. 2
920906110027. 3
920906110028. 4

Question Number : 7 Question Id : 92090627843 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct indirect narration for the following sentence:

The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :
920906110025. 1



920906110026. 2
920906110027. 3
920906110028. 4

Question Number : 8 Question Id : 92090627844 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906110029. 1
920906110030. 2
920906110031. 3
920906110032. 4

Question Number : 8 Question Id : 92090627844 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906110029. 1
920906110030. 2
920906110031. 3
920906110032. 4

Question Number : 9 Question Id : 92090627845 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option which is opposite in meaning to the following word:

barbaric

(1) primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906110033. 1
920906110034. 2
920906110035. 3
920906110036. 4

Question Number : 9 Question Id : 92090627845 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option which is opposite in meaning to the following word:

barbaric

(1) primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906110033. 1
920906110034. 2
920906110035. 3
920906110036. 4

Question Number : 10 Question Id : 92090627846 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the part of speech of the underlined word in the following sentence.

Matural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906110037. 1
920906110038. 2
920906110039. 3
920906110040. 4

Question Number : 10 Question Id : 92090627846 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the part of speech of the underlined word in the following sentence.

Matural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906110037. 1
920906110038. 2
920906110039. 3
920906110040. 4

Question Number : 11 Question Id : 92090627847 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906110041. 1
920906110042. 2
920906110043. 3
920906110044. 4

Question Number : 11 Question Id : 92090627847 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906110041. 1
920906110042. 2
920906110043. 3
920906110044. 4

Question Number : 12 Question Id : 92090627848 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven (4) five
Options :

920906110045. 1
920906110046. 2
920906110047. 3
920906110048. 4

Question Number : 12 Question Id : 92090627848 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) SEVEN (4) five
Options :

920906110045. 1
920906110046. 2
920906110047. 3
920906110048. 4

Question Number : 13 Question Id : 92090627849 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il ;

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 (I)  Rajnikanth
(B) 2018 (I Asha Parekh
(C) 2019 (i) Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A)-(1), (B)-(I), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (C)-(1), (D)-(1)
(3)  (A)-(1), (B)-(I), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I1), (D)-(11)

Options :

920906110049. 1

920906110050. 2

920906110051. 3
920906110052. 4

Question Number : 13 Question Id : 92090627849 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1)  Asha Parekh
(C) 2019 (1) Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1 (A)-0). (B)-(I), (C)-(I), (D)-(IV)
(2) (A, (B)-(IV), (O-(1), (D)-(1N)
(3) (A, (B)-(), (C)-(IV), (D)-(1)
4 (A-(V), (B)-(1), (O)-(), (D)-(1n)



Options :

920906110049. 1
920906110050. 2
920906110051. 3
920906110052. 4

Question Number : 14 Question Id : 92090627850 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement |l :  According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

920906110053. 1
920906110054. 2
920906110055. 3
920906110056. 4

Question Number : 14 Question Id : 92090627850 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement lI . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement [l is correct

Options :

920906110053. 1
920906110054. 2
920906110055. 3
920906110056. 4

Question Number : 15 Question Id : 92090627851 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

(1) Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906110057. 1
920906110058. 2
920906110059. 3
920906110060. 4

Question Number : 15 Question Id : 92090627851 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

(1)  Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906110057. 1
920906110058. 2
920906110059. 3
920906110060. 4

Question Number : 16 Question Id : 92090627852 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A, 216
B. 793
C. 682
D. 497
E. 385

Choose the correct answer from the options given below

1y BCAED (20 B,CEAD
3 CBEAD 4 CAEBD
Options :

920906110061. 1
920906110062. 2
920906110063. 3
920906110064. 4

Question Number : 16 Question Id : 92090627852 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A. 216
B. 793
C. 682
D. 497
E. 385

Choose the correct answer from the options given below

1y BCGAED (20 B,.CEAD
@ CBEAD () CAEBD
Options :

920906110061. 1
920906110062. 2
920906110063. 3
920906110064. 4

Question Number : 17 Question Id : 92090627853 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

(1) Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906110065. 1
920906110066. 2
920906110067. 3
920906110068. 4

Question Number : 17 Question Id : 92090627853 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

(1) Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906110065. 1
920906110066. 2
920906110067. 3
920906110068. 4

Question Number : 18 Question Id : 92090627854 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Preeti, Kirti, Rinki and 5wati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant
in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906110069. 1
920906110070. 2
920906110071. 3
920906110072. 4

Question Number : 18 Question Id : 92090627854 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Preeti, Kirti, Rinki and 5wati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant
in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906110069. 1
920906110070. 2



920906110071. 3
920906110072. 4

Question Number : 19 Question Id : 92090627855 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(m 21 (2) 22
(3) 23 (4) 24
Options :

920906110073. 1
920906110074. 2
920906110075. 3
920906110076. 4

Question Number : 19 Question Id : 92090627855 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(1) 21 (2) 22
(3) 23 4 24
Options :

920906110073. 1
920906110074. 2
920906110075. 3
920906110076. 4

Question Number : 20 Question Id : 92090627856 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
In a certain code '‘BRIGHT' is written as 'ATHIGY' then in the same code

Statement | : 'NORTH' will be written as ‘MPSVG' and

Statement || : 'WATER' will be written as “VCSGS'

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false
(4) Statement | is false but Statement |l is true

Options :

920906110077. 1

920906110078. 2

920906110079. 3
920906110080. 4

Question Number : 20 Question Id : 92090627856 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;
In a certain code ‘BRIGHT' is written as 'ATHIGY' then in the same code

Statement | : 'NORTH' will be written as ‘MPSVG' and

Statement || : "WATER' will be written as 'VCSGS

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement [l are false
(3) Statement | is true but Statement |l is false
(4) Statement | is false but Statement |l is true
Options :
920906110077. 1

920906110078. 2
920906110079. 3



920906110080. 4

Question Number : 21 Question Id : 92090627857 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906110081. 1
920906110082. 2
920906110083. 3
920906110084. 4

Question Number : 21 Question Id : 92090627857 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906110081. 1
920906110082. 2
920906110083. 3
920906110084 4

Question Number : 22 Question Id : 92090627858 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B
is:

(1)  5km (2) 6km
(3) 6.5 km 4y 7.5km
Options :

920906110085. 1
920906110086. 2



920906110087. 3
920906110088. 4

Question Number : 22 Question Id : 92090627858 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B

152

(1) 5km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906110085. 1
920906110086. 2
920906110087. 3
920906110088. 4

Question Number : 23 Question Id : 92090627859 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(1) 15% (2) 40%
(3) 7.5% 4) 20%
Options :

920906110089. 1
920906110090. 2
920906110091. 3
920906110092. 4

Question Number : 23 Question Id : 92090627859 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(1) 15% (2) 40%
(3) 7.5% 4) 20%
Options :

920906110089. 1
920906110090. 2



920906110091. 3
920906110092. 4

Question Number : 24 Question Id : 92090627860 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifa=130,b =133 and c = 137, There thevalueofa® + b® + -3 abcis

(1) 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906110093. 1
920906110094. 2
920906110095. 3
920906110096. 4

Question Number : 24 Question Id : 92090627860 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifa=130,b =133 and c = 137, There thevalueofa® + b® + -3 abcis

(1) 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906110093. 1
920906110094. 2
920906110095. 3
920906110096. 4

Question Number : 25 Question Id : 92090627861 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following discount option in most beneficial for shop keeper?
(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.
(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only 4) A C Donly
Options :

920906110097. 1
920906110098. 2
920906110099. 3
920906110100. 4

Question Number : 25 Question Id : 92090627861 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following discount option in most beneficial for shop keeper?

(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.

(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A Bonly
(3) B, C, D only 4) A C Donly
Options :

920906110097. 1
920906110098. 2
920906110099. 3
920906110100. 4
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Question Number : 26 Question Id : 92090627862 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Age-sex pyramid of which country has a narrow base and tapered top?

(1)  Nigeria (2) Bangladesh
(3) Mexico (4) Japan
Options :

920906110101. 1
920906110102. 2
920906110103. 3
920906110104. 4

Question Number : 26 Question Id : 92090627862 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906110101. 1
920906110102. 2
920906110103. 3
920906110104. 4

Question Number : 27 Question Id : 92090627863 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is NOT included in the priorities of 'Urban Strategy’ of UNDP?

(1) Increasing shelter for the urban poor

(2)  Eradication of urban poverty

(3)  Reducing air pollution

(4)  Upgrading energy use and alternative transport systems
Options :
920906110105. 1
920906110106. 2

920906110107. 3
920906110108. 4

Question Number : 27 Question Id : 92090627863 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) TR e & e snyaeE | gis
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Options :

920906110105. 1
920906110106. 2
920906110107. 3
920906110108. 4

Question Number : 28 Question Id : 92090627864 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A):  Interaction between primitive human society and strong forces of nature

was termed as environmental determinism.

Reasons (R) : The human activities create cultural landscape.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(4)

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Options :

920906110109. 1
920906110110. 2
920906110111. 3
920906110112. 4

Question Number : 28 Question Id : 92090627864 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

9209061101009. 1
920906110110. 2
920906110111. 3
920906110112. 4



Question Number : 29 Question Id : 92090627865 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : South Asian countries face conditions of drought and flood very
often.
Statement Il : Crop cultivation sequence in rural areas of South Asia, also suffer in

the absence of irrigation.

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement Il are true
(2) Both Statement | and Statement 1l are false
(3) Statement | is true but Statement Il is false
(4) Statement | is false but Statement |l is true

Options :

920906110113. 1

920906110114. 2

920906110115. 3
920906110116. 4

Question Number : 29 Question Id : 92090627865 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
920906110113. 1
920906110114, 2



920906110115. 3
920906110116. 4

Question Number : 30 Question Id : 92090627866 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the expert who defined Geography as “conception resulting from a more synthetic
knowledge of the physical laws governing our earth and of the relations between the living
beings which inhabit it".

(1)  Taylor (2) Ratzel
(3) Blache (4) Simple
Options :

920906110117. 1
920906110118. 2
920906110119. 3
920906110120. 4

Question Number : 30 Question Id : 92090627866 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 A<y &1 ugaH Fifor foRE yiia &1 ufvifsa far € gorl gedt &1 Fafa & ard
vifaes vl duT 39 W T84 ad oiial & Aed Hasl & 31 Iwiftd 79 8 I0F hean|”

(1) TR @ Yeud
(3) s 4) Hud
Options :

920906110117. 1
920906110118. 2
920906110119. 3
920906110120. 4

Question Number : 31 Question Id : 92090627867 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following language has second highest number of speakers in the world?

(1)  French (2) Mandarin
(3) Russian (4) English
Options :

920906110121. 1
920906110122. 2



920906110123. 3
920906110124. 4

Question Number : 31 Question Id : 92090627867 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 & ¥ - vt & dieH arell 31 de fay d gud waied g

(1) W (2) HafA
3) =4l (4) 3Tl
Options :

920906110121. 1
920906110122. 2
920906110123. 3
920906110124. 4

Question Number : 32 Question Id : 92090627868 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following stage is the result of a negative rate of growth in population?

(1)  High stationary stage (2) Declining population stage
(3)  Early expanding stage (4) Late expanding stage
Options :

920906110125. 1
920906110126. 2
920906110127. 3
920906110128. 4

Question Number : 32 Question Id : 92090627868 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) 3= RR sExn (2) Hed! S a1
(3) URM®E AR aw @) o3 fadR sra=n
Options :

920906110125. 1
920906110126. 2
920906110127. 3



920906110128. 4

Question Number : 33 Question Id : 92090627869 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the given technological changes in chronological order of their effect on
population growth.

A Industrial revolution

B Transportation revolution

G Biotechnology revolution

D Information and Computers revolution

Choose the correct answer from the options given below :

(1) ABCD

(2) D,CBA

(3) D,BCA

(4) A DB C
Options :

920906110129. 1
920906110130. 2
920906110131. 3
920906110132. 4

Question Number : 33 Question Id : 92090627869 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A Sirenfie wifa
B. uRagdwifld
C.  Saded®l Hifd
D. a1 Ud $R Hifd
A fou U faeedi § 9 9l IO &1 994 it
(1), ABCD
(2) D,CBA
(3) D,B.CA
(4) A D B C
Options :

920906110129. 1
920906110130. 2
920906110131. 3
920906110132. 4

Question Number : 34 Question Id : 92090627870 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is most suitable to represent different types of district wise landuses
of a given year on a map?

(1)  Pie diagram (2) Spheres
(3) Line graph (4) Dots
Options :

920906110133. 1
920906110134. 2
920906110135. 3
920906110136. 4

Question Number : 34 Question Id : 92090627870 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) U5 3R (2) e
(3) @A @ fog
Options :

920906110133. 1
920906110134. 2
920906110135. 3
920906110136. 4

Question Number : 35 Question Id : 92090627871 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G_‘\\ What is the speed of the wind in the given symbol?

(1) 35 knots (2) 15 knots
(3) 25 knots (4) 45 knots
Options :

920906110137. 1
920906110138. 2
920906110139. 3
920906110140. 4

Question Number : 35 Question Id : 92090627871 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O\ R e A arg i i e &2

(1)  354ic 2) 154lc
3) 254 @) 454
Options :

920906110137. 1
920906110138. 2
920906110139. 3
920906110140. 4



Question Number : 36 Question Id : 92090627872 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Diagonal scale is very useful for large scale or cadastral maps.
Reasons (R) : It is possible to read upto 1/100™ part of a primary division in a diagonal
scale.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906110141. 1
920906110142. 2
920906110143. 3
920906110144. 4

Question Number : 36 Question Id : 92090627872 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



920906110141. 1
920906110142. 2
920906110143. 3
920906110144. 4

Question Number : 37 Question Id : 92090627873 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Maps in descending order of number of features/deatails shown.
Atlas Map

City Map

Cadastral Map

o N = P

Topographical Map

Choose the correct answer from the options given below :

(1) ABCD
(2) C.B D A
(3) B.CAD
(4) C,.DAB
Options :

920906110145. 1
920906110146. 2
920906110147. 3
920906110148. 4

Question Number : 37 Question Id : 92090627873 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A B CD
C.B DA
B.C.AD
C.DAEB

Options :

920906110145. 1
920906110146. 2
920906110147. 3
920906110148. 4

Question Number : 38 Question Id : 92090627874 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements about cartograms,

A,
E.
C.

D.

Cartograms make it possible to easily display the sequences through time.
Intensity of shading is directly proportional to the intensity of elements.

In cartograms, original shape and appearance of the area concerned is purposefully
distorted.

Cartograms are representation of statistical data on a map in a diagrammatic way.

Choose the correct answer from the options given below :

A and B only
B and C only
A and D only
C and D only

Options :
920906110149. 1



920906110150. 2
920906110151. 3
920906110152. 4

Question Number : 38 Question Id : 92090627874 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(2) ¥ad B3R C

(3) ad ARD

4) ®ad CHRD
Options :

920906110149. 1
920906110150. 2
920906110151. 3
920906110152. 4

Question Number : 39 Question Id : 92090627875 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify correct statements about the High Stationary Stage of Demographic transition
theory.

A, This is a characteristics of traditional, agrarian societies.

B. It has high fertility and high mortality rates.

€ Life expectancy starts rising and child survival rate improves significantly.
D.

The infant mortality becomes very low.

Choose the correct answer from the options given below :

(1) AandBonly
(2) B and D only
(3) A and C only
(4) C and D only

Options :

920906110153. 1
920906110154. 2
920906110155. 3
920906110156. 4

Question Number : 39 Question Id : 92090627875 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) ad A 3B
(2) &dd B3RD
(3) Pad A3RC
(4 Had C3IRD
Options :

920906110153. 1



920906110154. 2
920906110155. 3
920906110156. 4

Question Number : 40 Question Id : 92090627876 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | (Expert) List Il (Concept of Urbanization)

(A) Trewartha ()  Conversion of small homogenous society to a large
heterogenous society

(B) Writh (I} Specialism and rise in urban population
(C) Carter () Urbanism as a way of life
(D) Riessman (IV) Urbanisation is a cyclic process

Choose the correct answer from the options given below:

(1) (A)-(), (B)-(I), (C)-(lm), (D)-(IV)
(2) (A=), (B)-(D). (C)-(IV), (D)-(1)
(3)  (A)-(m), (B)-(, (C)-(IN), (D)-(IV)
(4)  (A)-(V), (B)-(In), (O)-(), (D)-(1)

Options :

920906110157. 1
920906110158. 2
920906110159. 3
920906110160. 4

Question Number : 40 Question Id : 92090627876 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl | & 91y gl 11 1 B Sifeg
gdi-| (fa2rss) G-Il (ATRISR DI SfaeRN)

(A) fearui () Y I GATS 1 ggd [ATasITia Fams § FiaR|
) faef (1) TR vd TR sEen | gig|

(C) IR (ll) RIBRUI-USH Siig- Sl &1 &T|

D) frE (IV) TRISRI U Ghid WehH g

A fqu U fasbedl & U Ugl IR &1 989 DIfoT:

(M (A, (B)-(D), (©-(1), (D)-(IV)
2 (A)-(), B)-(), (O)-(IV), (D)-(liT)
(3)  (A)-(lI), (B)-(1), (O)-(IN), (D)-(IV)

@ (A)-(V), (B)-(lI), (-, (D)-(1)
Options :
920906110157. 1
920906110158. 2
920906110159. 3
920906110160. 4

Question Number : 41 Question Id : 92090627877 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following scale shows a comparision of distance measured in different but
comparable units?

(1)  Time Scale (2) Unit Scale
(3) Revolution Scale (4) Pace Scale
Options :

920906110161. 1
920906110162. 2
920906110163. 3
920906110164. 4

Question Number : 41 Question Id : 92090627877 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & 4 211 I A, R fog qomrars soisal § J1iUd gul @i gorl & Waikid Hedl g7

(1) 99 |9 (2) SHIs HIYA!
(3)  URYHU HIOAT (4) T HIOAT
Options :

920906110161. 1
920906110162. 2
920906110163. 3
920906110164. 4

Question Number : 42 Question Id : 92090627878 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio between the principal scale and the real scale at any point on a map is called the
at that point.

(1) Deformation (2) Distortion
(3)  Scale factor (4) True shape error
Options :

920906110165. 1
920906110166. 2
920906110167. 3
920906110168. 4

Question Number : 42 Question Id : 92090627878 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aFfE R 5l ue fig W g Al SR ardfd® A19-1 & 99 & U 3 39 f6g &1

_____ ®gdgl
(1) faEum ) fagpfa
(3) HUD PRSP (4) drdfd® ¥9IfC

Options :

920906110165. 1
920906110166. 2
920906110167. 3
920906110168. 4

Question Number : 43 Question Id : 92090627879 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The shortest connection between two points on the sphere is orthodrome. It is portrayed as
a curve in following map projections EXCEPT in

(1)  Cylindrical equal-area projection (2) Cylindrical equal-distant projection
(3)  Mercator projection (4) Gnomonic projection.
Options :

920906110169. 1
920906110170. 2
920906110171. 3
920906110172. 4

Question Number : 43 Question Id : 92090627879 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH TMaTH )R <l fdgsit & 72 agad goe &1 A1ATgH $ed ¢ | I8 Hufaiad aFfE uedf )

P BISH UH I & U H S2TaT STl g
(1) SOAHR GHEF HaY (2) SOATHR GH-g31 WY
(3) HAPHeIUAY @) AR gag

Options :

920906110169. 1
920906110170. 2
920906110171. 3
920906110172. 4

Question Number : 44 Question Id : 92090627880 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | (Projection) List Il (Properties/Uses)
(A) Bonne's (I)  Simple right circular cylinder touches the globe
along the equator
(B) Cylindrical Equal Area  (ll) A right circular cone is supposed to intersect the
generating globe along 2 selected standard parallels
(C) Conical projection with (lll} Used for countries like France, Netherland,
Two Standard Parallels Switzerland, Belgium, India etc.
(D) Zenithal Stereographic (V) The source of light lying at the pole diametrically
Polar Case opposite to one at which the projection lane touches
the generating globe

Choose the correct answer from the options given below:

(1) (A=), (B)-(1), (C)-(IN), (D)-(IV)
(@) (A=, B)-(1), (C)-(IV), (D)-(IN)
(3)  (A)-(I, (B)-(1), (C)-(I), (D)-(IV)
(4) (A=, B)-(), (O)-(), (D)-(IV)

Options :

920906110173. 1
920906110174. 2
920906110175. 3
920906110176. 4

Question Number : 44 Question Id : 92090627880 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SCERIUE CIERERIEE E Y

LGIE G-I
(A) & U&d () HIYRO Hi MR da- Tdld Bl
YHERE R &l g
(B) SEIHR TH-&F () U e MArbR AP o1 Tdld Dl gl
HFE efie & TeR ufasied daigl
(C) T HFS &l &1 (Y, Heds, geeRas, afceamy, yRd
HTPR U&Y 3nfe =i & fera vt faean i 81
(D) @A fAfew ydia &9 (IV) VehTY 1 Tlld Wald dd & S Tld &
1y e fag & sarfig ufa g@ W e gl
1< fau e fawed! 7 9 U8t IR &1 994 DI

(1 (A)-(), (B)-(1), (C)-(IN), (D)-(IV)
(@) (A=), (B)-(1), (C)-(1V), (D)-(n)
( ( )
( )

3) A)-(I), (B)-(1), (C)-(11), (D)-(IV
(4) A)-(1), (B)-(1), (C)-(1), (D)-(IV
Options :

920906110173. 1
920906110174. 2
920906110175. 3
920906110176. 4

Question Number : 45 Question Id : 92090627881 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average annual exponential growth rate of population in India in 2011 was _____ per
cent.

(1) 164 (2) 1.84

(3) 194 (4) 1.74

Options :

920906110177. 1
920906110178. 2
920906110179. 3
920906110180. 4

Question Number : 45 Question Id : 92090627881 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2011 H YRd & S9SAT $1 31d aiie 9y gfe a2 wfawrd ot

(1) .64 (2) 1.84
(3) 194 (4) 1.74
Options :

920906110177. 1
920906110178. 2
920906110179. 3
920906110180. 4

Question Number : 46 Question Id : 92090627882 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following railway zones is NOT correctly matched with its headquarters?

(1) East Central-Hajipur (2) North Eastern-Gorakhpur
(3) Western Zone-Jaipur (4) South East Central-Bilaspur
Options :

920906110181. 1
920906110182. 2
920906110183. 3
920906110184. 4

Question Number : 46 Question Id : 92090627882 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & ¥ S 91 ed BUSd $1 3 GEATd & 91 el e 761 o

(1) A= gd- BolgR (2) S Yd - TRER
(3) Uil &F-sagR (4) <férorgd Ten - feerRIgR

Options :

920906110181. 1
920906110182. 2
920906110183. 3
920906110184. 4

Question Number : 47 Question Id : 92090627883 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Coromandal coast receives less rainfall in summer as compared to Malabar
coast of India.
Reasons (R) : At Coromandal coast rainfall is predominantly cyclonic.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906110185. 1

920906110186. 2

920906110187. 3
920906110188. 4

Question Number : 47 Question Id : 92090627883 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 1 B ST U §: U 31U (Assertion A) & &9 H fofEd § df gavl 39&
U (Reason R}%Fﬂﬁ;

HYSHYAA :  HRA H U g & AeMER ¢ @) ga-1 3§ PRIESA dc S au1 W Sl ¢
BRUIR : FRITSA d¢ W g arell aui HfAHTE: Iwardi giat g

WIS HY & el 1, A 4T T fadpedl # T W6l I o1 794 Fifon

(1) ASIRREA TS € 3R R, A P! TS B

2) ASRRIAIUEE AP R A B UL RSN A §

3) AUSE AFTRTS TS E
@) AWETEE ABFIRTE T

Options :

920906110185. 1
920906110186. 2
920906110187. 3



920906110188. 4

Question Number : 48 Question Id : 92090627884 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following country, dumping of mercury-rich sludges into the bay caused
Severe mercury poisoning?

(1)  Nepal (2) Sweden
(3) Mew Zealand (4) Japan
Options :

920906110189. 1
920906110190. 2
920906110191. 3
920906110192. 4

Question Number : 48 Question Id : 92090627884 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & 3 ford < &1 OS] # URI-gad $1aS B & BRI &0 URT [AuTaal 3ad g3?
(1) AU 2 Wi
3) golids 4) WU

Options :

920906110189. 1
920906110190. 2
920906110191. 3
920906110192. 4

Question Number : 49 Question Id : 92090627885 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There is relationship between the amount of soild wastes produced and the

affluence/richness of the economically rich and industrially developed western countries.

(1) Direct Positive (2) Indirect Positive
(3)  Indirect Negative (4) Direct Negative
Options :

920906110193. 1
920906110194. 2
920906110195. 3
920906110196. 4



Question Number : 49 Question Id : 92090627885 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ¥ § Uud R SiEifie ¥u 4 Aeihd ol < &t yAresydr 3R 319 &=R1 Ide
Pt HET F T grER g

(1) UHd YTHE (2) SUdE U-THP
(3) SHUE BUTHP (4) UE BUMTHD
Options :

920906110193. 1
920906110194. 2
920906110195. 3
920906110196. 4

Question Number : 50 Question Id : 92090627886 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some communities live entirely on their environment, extracting or taking whatever is
available with least effort. In which type of region such communities are found in the world?

(1) Grasslands of North America (2) Amazon Basin
(3) France (4) Morth Indian Plains
Options :

920906110197. 1
920906110198. 2
920906110199. 3
920906110200. 4

Question Number : 50 Question Id : 92090627886 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$© YHa YUl Y ¥ 30 UaiaRul W Sifdd 38d 8, FdTad gu a1 g-ad Wa 9 S Iuds
34 UEUI Fd § | 3H UHR & 9Har fay ¥ fod UeR & &7 ¥ U ord g7

(1) IR ARET & 98 & AgH (2) 3FoH dRE
3) Y 4) I YR & AeH
Options :

920906110197. 1
920906110198. 2
920906110199. 3



920906110200. 4

Question Number : 51 Question Id : 92090627887 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year, ‘The Biological Diversity Act’ was enacted in India?

(1) 2021 (2) 2002
(3) 2022 (4) 2019
Options :

920906110201. 1
920906110202. 2
920906110203. 3
920906110204. 4

Question Number : 51 Question Id : 92090627887 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd H frg a¥ & Sig fafayar sifaf s ang fea man

(1) 2021 (2) 2002
(3) 2022 4) 2019
Options :

920906110201. 1
920906110202. 2
920906110203. 3
920906110204. 4

Question Number : 52 Question Id : 92090627888 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which one of the following coastal regions fishing is destabilized by EL Nino?

(1) Alaskan coastal region (2) Norway coastal region
(3) Peruvian coastal region (4) Mexican coastal region
Options :

920906110205. 1
920906110206. 2
920906110207. 3
920906110208. 4



Question Number : 52 Question Id : 92090627888 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= fau o 5 ada &7 H ud M1 S SR AEe A SRR g Jarg?

(1) 3P acy & (2) A dada &F
() U=acHad 4) Hfegs! ada &=

Options :

920906110205. 1
920906110206. 2
920906110207 3
920906110208. 4

Question Number : 53 Question Id : 92090627889 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Lakes in Scandinavinan Countries (Norway, Sweden) are now biologically
termed as "dead lakes".

Reasons (R) : Lantana commara was brought to India for the purpose of forming hedges

but now it has become a menance to native plants.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (4)
(3) (A) is correct but (R) is not correct

4 (A) is not correct but (R) is correct

Options :

920906110209. 1
920906110210. 2
920906110211. 3
920906110212. 4

Question Number : 53 Question Id : 92090627889 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 1 o fST U §: U MU (Assertion A) & ¥4 H fafed § df gav1 39&
PRI (Reason R) & ¥U H;

HPU A ;. WhfEAEA <2 (@16, WieA) 31 gl 3@ Wifdd U ¥ ga sl sl ardl )

HRUR : eI SIART &1 URd § €18 §9H & I A o/l 1 YT fob=] 314 I8 R
Trejf & fere & w1 €1 S §

SWRIGd YA & e H, A fEu 70 f[ddedi & 9 91 IR &1 99 Piforg

(1) ASRRGH T8I g 3R R, A B UG AT §

2) AR REH WEl ¢, Afdb R, A B Gl AR Al §
3) AT AfFTR IS AL

@) ATHTEIE APTIRIEE

Options :

920906110209. 1
920906110210. 2
920906110211. 3
920906110212. 4

Question Number : 54 Question Id : 92090627890 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Environmental Programmes/Plans/Policies of India in chronological

order.

A Project Elephant

B. Ganga Action Plan

C. Mational Plan for conservation of Aquatic Eco-systems
D. National Green Corps

Choose the correct answer from the options given below :

(1) B,ADC
(2) A DB C
(3) C, B AD
(4) B,D C A
Options :

920906110213. 1
920906110214. 2
920906110215. 3
920906110216. 4



Question Number : 54 Question Id : 92090627890 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 13U 7T YR waiaRor SrisHl /s /Aiiddl @1 STarsd § aiRid Hifeu|
A B aiaeE

B. T SHId-ad oI

C. ordg uikfRufae o3l & e gg asa are
D. WP gRdca

i fau U fasedl § @ 9El IR &1 TG Hifolt ;
(1 B,ADC

@) -ADBC

3 CBAD

4 BDCA

Options :

920906110213. 1
920906110214. 2
920906110215. 3
920906110216. 4

Question Number : 55 Question Id : 92090627891 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement|  : In Bhopal deadly methyl isocyanate gas leakage caused the world's
worst industrial disaster, during the night of 10 December 1985.

Statement |l : The world’s worst nuclear power plant accident occurred at
Chernobyl, Ukraine, in 2004.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true
Options :

920906110217. 1
920906110218. 2
920906110219. 3
920906110220. 4

Question Number : 55 Question Id : 92090627891 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FuE e g:
FUT1 10 feraR 1985 B Id FHUEd rgaRTETe T & RuE & &R v | fay
DI Y HAHS IS Ag] g3 AT

YA 1 : [aY DI IIG YIHSD AMTYBI Sl G493 ARG] Geb & AXATed H 2004 | "fed
Rl

IWdd U & 3Tl 1, Aid fGU 70 fasedl § I gl I &1 994 Diforg
(1) SYHIRNIAITR
@  BYF 13RS T B
(@) BYTITA , Afp U Il 3T
(4) YT AT E, Afh HUT I I §
Options :

920906110217. 1
920906110218. 2



920906110219. 3
920906110220. 4

Question Number : 56 Question Id : 92090627892 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statements with reference to Environmental Impact Assessment (EIA) in
India and identify which are NOT correct.

A Environmental Impact Assessment is basically assessment of impact of a
development project on environment.

B. In Environmental Impact Assessment, the term ‘environment’ is used only to include
physical components.

C. It is based on top-down approach and participation of environmentalists only.
D. It includes only three activities-River Valley projects, thermal, plants and nuclear
plants.

Choose the correct answer from the options given below :
(1) A Band Conly
(2) AandConly
(3) A, B and D only
(4) B, CandDonly
Options :
920906110221. 1
920906110222. 2

920906110223. 3
920906110224. 4

Question Number : 56 Question Id : 92090627892 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 Syl 1 yRd § vafaRor uvTa Jedie & 5 § ufed iR Tad 3 &1 ggai-|

A

JaRUl YHTd Hedidh- dRad o ol [demy uigieT & uaiaor W S ard UHTal &1
elid g g |

TATaRU] WM Hedich H Uaiavur Wsg dad Hifde dwi & e W fsan g |

Tg 9 ¥ dd IUNTH 3R Had yaiauidg) &f HRfleRl OR sutid 8|

g ad di9 Tfafafial i swar § - 74 9rel gfgieAn, ardig S 9693 sk
AT J4A 1

19 feu v fasedt © | 9l IR &1 95 Sifoe

(1) @dd A B3R C

2) ®ad ASRC

(3) ®ad A B3RD

(4) @dd B, C3RD
Options :

920906110221. 1
920906110222. 2
920906110223. 3
920906110224. 4

Question Number : 57 Question Id : 92090627893 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | (Cause of Biodiversity loss) List Il (Characteristics)

(A) Habitat destruction () Inadvertant introduction of
Congress grass

(B) Over exploitation () Use and throw away culture

(C) Introduction of Exotic Species () Hunting by poachers

(D) Environmental Pollution (IV) Large scale deforestation

Choose the correct answer from the options given below:

(1) (A, (B)-(1V), (Q)-(I1), (D)-(1N)

(2) (A=), (B)-(D). (C)-(1), (D)-(IV)

(3) (A=), (B)-(1), (O-(1). (D)-(IV)

(4)  (A)-(IV), (B)-(l), (C)-(D), (D)-(1)
Options :

920906110225. 1



920906110226. 2
920906110227. 3
920906110228. 4

Question Number : 57 Question Id : 92090627893 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gdt | & g gt 1 31 e Fifon
-1 (ofF fafderdr g & HRU) el (=)

(A)  3TETY faarr () DY O BT eiasid Ual
(B) AP algd () UG HR AR B ol B Ui
(€ feeweorfagisiufasd () RER-IRIgRI @R

(D) TAlERU Fgyul (V) 98¢ UHM W aHige

+1d feu U fasedl § O Ol IR &1 99 S

(1) (A)-(), (B)-(V), (O)-(1), (D)-(111)
(2 (A=), (B)-(1), (C)-(m), (O)-(IV)
(3) (A=), (B)-(l), (O)-(), (D)-(IV)
(4)  (A)-(IV), (B)-(I), (C)-(1). (D)-(11)

Options :

920906110225. 1
920906110226. 2
920906110227. 3
920906110228. 4

Question Number : 58 Question Id : 92090627894 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many States and Union Territories of India sex ratio was more than 1000 females per
1000 males (Census 2011)7

(1) One (2) Two
(3) Three (4) Four
Options :

920906110229. 1
920906110230. 2
920906110231. 3
920906110232. 4



Question Number : 58 Question Id : 92090627894 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRA & fhda Tl SR $5 w1i¥d uSeil &1 fRiTard 1000 g6 W 1000 ¥ i e
SO 2011 UT?

(1) TP 2 «@
3 (4) =R
Options :

920906110229. 1
920906110230. 2
920906110231. 3
920906110232. 4

Question Number : 59 Question Id : 92090627895 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which one of the following states of India the variability of rainfall is highest?

(1) West Bengal (2) Karnataka
(3) Rajasthan (4) Bihar
Options :

920906110233. 1
920906110234. 2
920906110235. 3
920906110236. 4

Question Number : 59 Question Id : 92090627895 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ¥ 9 yRd & 5y ey & aul gRad-eiiaar gaffis g2

(1)  uigEsma (2) THAlCH
(3)  ISRE 4) fagRr
Options :

920906110233. 1
920906110234. 2
920906110235. 3
920906110236. 4

Question Number : 60 Question Id : 92090627896 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The Minicoy Islands are separated from rest of islands of Union Territory of Lakshadweep by

(1 Nine degree channel (2) Ten degree channel
(3)  Eight degree channel (4) Duncan passage
Options :

920906110237. 1
920906110238. 2
920906110239. 3
920906110240. 4

Question Number : 60 Question Id : 92090627896 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TLEd Hg MR YW & gidf & Rea g d T BT &
() Hifedt 9a @ <ufedh=a

3) e feilt 99a (4) A% ant

Options :

920906110237. 1
920906110238. 2
920906110239. 3
920906110240. 4

Question Number : 61 Question Id : 92090627897 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Union Territories in descending order of sex ratio, as per Census of
India, 2011.

A Delhi

B Lakshadweep
C. Chandigarh

D Puducherry

Choose the correct answer from the options given below :

(17 ADBLC
() ADCBH
(3) D,BAC
(4) D ABC
Options :

920906110241. 1
920906110242. 2
920906110243. 3
920906110244. 4

Question Number : 61 Question Id : 92090627897 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2011 DI STUMET & feiiT SUId & TER A 4T dg fld U= &1 3farig s # Fafeyd
2l

A foed
B. W&g
c. dgrg

D. Ygadl
i fau U fashedl & 9 U1 IR &1 99 Hifeig :

M ADBC
@y  EBaE
3) D,BAC

4 DABC



Options :

920906110241. 1
920906110242. 2
920906110243. 3
920906110244. 4

Question Number : 62 Question Id : 92090627898 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  Maharashtra is the most urbanised state of India (2011).

Statement |l : Level of urbanization in India is lower than global level of

urbanization.

In the light of the above statements, choose the correct answer from the options

given below :

(1)
(2)
(3)
(4)

Both Statement | and Statement |l are true
Both Statement | and Statement |l are false
Statement | is true but Statement |l is false

Statement | is false but Statement Il is true

Options :

920906110245. 1
920906110246. 2
920906110247. 3
920906110248. 4

Question Number : 62 Question Id : 92090627898 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR AFFRums:

P | : HERTE YR T Ja9 TRIFd T € (2011) 1

HYA |l : URA T TRIGI0 &1 TR fay S RIS & &R 4 $4 g
TIRIFd HYA & 3f1clied H, i< fau T8 faeedl & ¥ FEl I &1 =4 Sifog

(1) HYFI IR N TS

(2) YR TH I ©

(3) P GA g, Alfh- PUA Il A §
(4) YT FHY g, dlb HYA 11 A §

Options :

920906110245. 1
920906110246. 2
920906110247. 3
920906110248. 4

Question Number : 63 Question Id : 92090627899 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following carefully about time in India and identify the wrong statements :

A The 82°30'E longitude is used as standard meridian to determine Indian standard
time.

Indian standard time is 6 hours ahead of Greenwich mean time.

C. There is a difference of about two hours in local times between northern most and
southern most points of India.

D. When it is Noon (12 :00) at Indian Standard Meridian, local time of Kolkata is ahead
of this.

Choose the correct answer from the options given below :

(1) A, B and C only
(2) A, Cand D only
(3) BandConly
4) A and D only
Options :
920906110249. 1

920906110250. 2
920906110251. 3



920906110252. 4

Question Number : 63 Question Id : 92090627899 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd ¥ 999 & e # A SuHl &1 ufgu ok Tad HuA! &1 9g9 Sifou|

A, URd AFS TAY 82°30' 4, <XIiaR 1 Werdl 4 Fuffd far smar g1
B. HRIW A IHY, W39 3iad g7 ¥ 6 € Ml g
C. YRd P IR 3R RUaH R $ A2 RIFH 99 2 4 $T 3 R Sl g
D. W& YR AF® ¥R | aIUeT (12:00 §9) 1d & a4 HIaPpial H1 |G I099 399
AT I B
=i fau TTe faeedl & 9 Hgl 3R &1 99 DIl :
(1) SadA B3R C
(2) FIAA C3HRD
3) HaAB 3R C
(4) HIAAARD
Options :

920906110249. 1
920906110250. 2
920906110251. 3
920906110252. 4

Question Number : 64 Question Id : 92090627900 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il ;

List | List Il
(&) Mahanadi () Penganga
(B) Godavari () Tawa
(C) Krishna () Hasdo
(D) Narmada (V) Malprabha

Choose the correct answer from the options given below:

(1) (A)-(), (B)-(1), (C)-(I1), (D)-(IV)
(@) (A)-(), (B)-(IV), (C)-(ln), (D)-(I
(3)  (A)-(IV), (B)-(IN), (C)-(1). (D)-(liT)
(4 (A, (B)-(1), (C)-(V), (D)-(1N)

Options :

920906110253. 1
920906110254. 2
920906110255. 3
920906110256. 4

Question Number : 64 Question Id : 92090627900 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | & Iy gt || 1 e i

el @ Gl (8T
(A) WG4 () O
(B) TGrad (IGE]
(C) PwM () B
(D) Har (IV) HAUHT
1< fau e fadedi @ g1 IR b1 994 i

(1) (A)-(m, B)-(1), (©)-(), (D)-(IV)
(2)  (A)-(I), (B)-(IV), (O)-(liT), (D)-(1)
(3)  (A)-(IV), (B)-(11), (©)-(1). (D)-(lIT)
(4)  (A)-(m, B)-(1), (O)-(IV), (D)-(I1)

Options :



920906110253. 1
920906110254. 2
920906110255. 3
920906110256. 4

Question Number : 65 Question Id : 92090627901 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which one of the following highly developed countries, primary activities such as logging
and petroleum production still remain important in the national economy?

(1)  Japan (2) Canada
(3) France (4) Argentina
Options :

920906110257. 1
920906110258. 2
920906110259. 3
920906110260. 4

Question Number : 65 Question Id : 92090627901 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I feu TTu farw sraftie fasfd S o, aha! dledr SR Jeiferad Idre ot wrfie fdhamd
LT Srfeaey el &1 HgqyUl HFT 67

(1) S (2) TSl
3) W (4) Sfffe
Options :

920906110257. 1
920906110258. 2
920906110259. 3
920906110260. 4

Question Number : 66 Question Id : 92090627902 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many modes of transport were assumed by Weber in his theory of industrial location?

(1) One (2) Two
(3) Three (4) Four
Options :

920906110261. 1
920906110262. 2



920906110263. 3
920906110264. 4

Question Number : 66 Question Id : 92090627902 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR GRI 30 e saeu & g | fad UeR & ultaga & WeF! & &eu-
IEY]

m & 2 &
(3) M (4) IR
Options :

920906110261. 1
920906110262. 2
920906110263. 3
920906110264. 4

Question Number : 67 Question Id : 92090627903 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kemmangundi iron are deposits are located in

(1) Chhattisgarh (2) Madhya Pradesh
(3) Karnataka (4) Jharkhand
Options :

920906110265. 1
920906110266. 2
920906110267. 3
920906110268. 4

Question Number : 67 Question Id : 92090627903 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oS A s gy AfREE

(1) BTG (2) T USRI
3) HAled (4) SRTEUS
Options :

920906110265. 1
920906110266. 2
920906110267. 3



920906110268. 4

Question Number : 68 Question Id : 92090627904 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which mode of transport has a practical monopoly in vast areas of Morthern Canada,
Alaska and Northern Australia?

(1) Air (2) Pipeline
(3) Road (4) Railway
Options :

920906110269. 1
920906110270. 2
920906110271. 3
920906110272. 4

Question Number : 68 Question Id : 92090627904 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I FATS], HARDT 3R I AR & AU &5 # uRagd & o9 9o &1 s
THIRPR 82

(1) dg (2) UTSUETS
3) HeP (4) Yad
Options :

920906110269. 1
920906110270. 2
920906110271. 3
920906110272. 4

Question Number : 69 Question Id : 92090627905 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

India’s share in world merchandise exports is about percent.
1 2 (2) 4
(3) 6 (4) 8

Options :

920906110273. 1
920906110274. 2
920906110275. 3



920906110276. 4

Question Number : 69 Question Id : 92090627905 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fasy ara Pafal § yrd &1 fewar ey ufawrd g1
(n 2 (2) 4
3) 6 4) 8
Options :

920906110273. 1
920906110274. 2
920906110275. 3
920906110276. 4

Question Number : 70 Question Id : 92090627906 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following countries in descending order of there merchandise exports value.

A, Germany
B Brazil

C. China

D Italy

Choose the correct answer from the options given below :

() CABD
21 CADB
(3) D,ABC
(4) B.CAD
Options :

920906110277. 1
920906110278. 2
920906110279. 3
920906110280. 4

Question Number : 70 Question Id : 92090627906 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H1d fFaidi & e & SaR e il &1 3arig! vH H IafRyd S|

= fau 7Te fasmedt # & 9t 3R &1 99 Difoid ;

(1) CABD
) CADB
3) D,ABC
4 BCAD

Options :

920906110277. 1
920906110278. 2
920906110279. 3
920906110280. 4

Question Number : 71 Question Id : 92090627907 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements about information and communication technology and
services industry.
Statement| : Switzerland is often called the financial capital of the world due to
highly developed banking functions.
Statement |l : Germany has developed communication and service networks of

Switzerland.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false
4) Statement | is false but Statement Il is true

Options :



920906110281. 1
920906110282. 2
920906110283. 3
920906110284. 4

Question Number : 71 Question Id : 92090627907 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 S HuA g Ud GER WEfe! 9yt Jar S99 & G # ffu mu g

FYA | ;- o P B F I B & FRU Kaeoravs & 3y ot g TeurE s
a1

YA || : [eoRcUE & YOR 3R a1 & Jcad & oHA! - fasiyd fear g1
IWiad HYA & 3Adid |, A 2 U fasedi 7 9 98l 3 &1 99 Bifolg

(1) HYFIR NS ITa 8

2) HYT| IR I T A g

(3) HYA| T g, Al HUA || 3A
(4) BYF| YA g, Alb HUA 1| T §

Options :

920906110281. 1
920906110282. 2
920906110283. 3
920906110284. 4

Question Number : 72 Question Id : 92090627908 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the given statements about pipelines carefully and identify the statements which are
NOT correct.

A large producers of cil having only small domestic consumption concentrated in few
areas, have very extensive system of pipelines.

B. The countries importing crude oil and distributing over large interior regions have
fairly well-developed network of pipeline system.

C. The European pipeline system was initially created to move refined production from
sea ports to inland markets.

B Japan is an important user of pipelines as a means of transport.

Choose the correct answer from the options given below :

(n B and Conly
(2) A and B only
(3) C and D only
(4) A and D only

Options :

920906110285. 1
920906110286. 2
920906110287. 3
920906110288. 4

Question Number : 72 Question Id : 92090627908 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ul & aR H 9 f3U 71U ST &1 Gaur gde ufeu iR Tad $UHl 31 UgaH Sifod |

A 98 U0 SURD W8l BYe @Ud B § 3R $3 &El H g e Hifid ¢ agf urguang-t &1
IS A BT g |

B. dCW O ®ddl dd 3O ®d ¢ 3R favgd Sffaie &= o fafa sd € 396 o™
AR &1 3= fAsfid da gidar g

C. T ugyarsd @ & o™ TEed § 995 §ee 9 stiaRks aRi # ulesgpa
e 31 myfd gq favar mar un

D. WIUM URdEA & Y- & ¥ N Urguarg-ii &1 U Heayul SuHr g
=t fau e fAdl # 9 Ug IR BT 994 P :

(1) HadB3HRC
(2) <PaAA3INB
3) FAAC 3R D
(4) Had ASRD

Options :



920906110285. 1
920906110286. 2
920906110287. 3
920906110288. 4

Question Number : 73 Question Id : 92090627909 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ;

List | (Manufacturing Region) List Il (Characteristics)

(A) Canada (I) Shows sign of ageing and
decline

(B) Great Britain ()  Imports raw materials from all
over the world

(C) Germany () Cheap electricity and easy
accessibility

(D) Japan (IV) Initial availability of local coal

and iron ore

Choose the correct answer from the options given below:

(1) (A)-(m), (B)-(1). (O-(V), (D)-(I)

@) (A)-(V), (B)-(), (C)-(1), (D)-(l)

(3)  (A)-(1), (B)-(I), (O)-(1V), (D)-(1)

(4) (A)-(1), (B)-(IV), (C)-(11), (D)-(111)
Options :

920906110289. 1
920906110290. 2
920906110291. 3
920906110292. 4

Question Number : 73 Question Id : 92090627909 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G | & |1y G 11 1 A Hifore

G-I (SaTe® &) -1l (e
A) TS () Fgell SR B & forg i 8
@) e fyea (1) TG YR ¥ S AT AT BT §
(€ oA (1) ! faraTelt 3R Ay MFAT=Ia
(D) WM (Iv) ®FHG FEa R dE s B
HNTUEH IUcTE
=t fou 71¢ faswedi & 9 Tl IR &1 989 BifoIg:

(1 (A-m, (B)-(1), (C)-(V), (D)-(11)
(2)  (A)-(V), (B)-(I1), (C)-(1), (D)-(li1)
(3) (A=, B)-(), (O)-(1V), (D)-(1)
4 (A=), (B)-(V), (O-(), (D)-(I)

Options :

920906110289. 1
920906110290. 2
920906110291. 3
920906110292. 4

Question Number : 74 Question Id : 92090627910 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following term refers to assessment of possibility of occurrence of disasters
in near future on the basis of occurrences of frequency, recurrence interval, magnitude and
severity of past events, precursor events etc?

{1 Disaster Preparedness (2) Disaster Prevention
(3) Disaster Prediction (4) Disaster Management
Options :

920906110293. 1
920906110294. 2
920906110295. 3
920906110296. 4

Question Number : 74 Question Id : 92090627910 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= & -3 Srsgraddt, e ufdsy § sruer & ufed g & WuTaH1, I8! 31gi, gARTadi
SfeRTd, TR 3R YddTa B1 gersi &1 eurar, gdm el s &1 guiidh 82

(1) 3l aurdt (2) SHTUGT AHUTH
(3)  3gqr Hiasgarft (4) AU Ua=H
Options :

920906110293. 1
920906110294. 2
920906110295. 3
920906110296. 4

Question Number : 75 Question Id : 92090627911 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following disaster brought a major paradigm shift in disaster management in
India?

(1)  Uttarkashi earthquake
(2)  Bhopal Gas Tragedy
(3)  Bhuj earthquake

(4) Killer tsunami waves in coastal parts of Tamil Madu. Andaman and Nicobar Island
and Kerala Coast

Options :

920906110297. 1
920906110298. 2
920906110299. 3
920906110300. 4

Question Number : 75 Question Id : 92090627911 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 O 9 fpg 3imuer & SR YR H 3f1uel Hey T UidH RAHIRU SR Y12

(1)  IEl Yoy
2) i I Fd
3) Yo Yy

(4) dHEATg, 3EHF R MSER qul Hd & dcd &3 § Saar gl

Options :



920906110297. 1
920906110298. 2
920906110299. 3
920906110300. 4

Question Number : 76 Question Id : 92090627912 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following represents the International Decade for Natural Disaster

Reduction?

(1) 1970-1979 (2) 1990-1999
(3) 2000-2009 4y 2020-2029
Options :

920906110301. 1
920906110302. 2
920906110303. 3
920906110304. 4

Question Number : 76 Question Id : 92090627912 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & 8 B Wgpfas Maer e & SR axid i g2 82

(1) 1970-1979 (2) 1990-1999
(3)  2000-2009 (4) 2020-2029
Options :

920906110301. 1
920906110302. 2
920906110303. 3
920906110304. 4

Question Number : 77 Question Id : 92090627913 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Centre for Disaster Management was established in India in

(1) 1995 (2) 2000
(3) 2005 (4) 2010
Options :

920906110305. 1
920906110306. 2



920906110307. 3
920906110308. 4

Question Number : 77 Question Id : 92090627913 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H IS ATUET Ya4 g bl RITTAT &l g |
(1) 1995 (2) 2000

(3) 2005 (4) 2010
Options :

920906110305. 1
920906110306. 2
920906110307. 3
920906110308. 4

Question Number : 78 Question Id : 92090627914 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the total geographical area of India about percent is flood prone.
(m 19 2) 12

(3) 25 4) 8

Options :

920906110309. 1
920906110310. 2
920906110311. 3
920906110312. 4

Question Number : 78 Question Id : 92090627914 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & $d HITIIS 8hd H F 4T ufawd s1e uHifad g1
() 19 (2) 12

(3) 25 4) 8

Options :

920906110309. 1
920906110310. 2
920906110311. 3
920906110312. 4



Question Number : 79 Question Id : 92090627915 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Sikkim is highly prone to geo-physical diasters.

Reasons (R) : Himalayas are yound folded mountains located at diverged plate margin.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
Options :
920906110313. 1
920906110314. 2

920906110315. 3
920906110316. 4

Question Number : 79 Question Id : 92090627915 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 31 HuA U MU §: UF SHfHSHUA (Assertion A) & ¥4 T fofad @ o gO1 396
&Nl (Reason R) & quf;

Py A ;. Rigen yiifde smaersi ¥ srafiie yHifdd g
BRUIR: fewTery 441 aferd udd & ot Sl e W W fRd g
JURIe HYA & 3Taie H, 7= U 1 fasedl 7 9 Uel IR &1 994 Sy
(1)  AJRREHEIUE § 3IRR, A P U ARSAT §

(2) AR RIHGE E, AFA R A P TEI TS A8 &

3) ATTE AfPIRITAE
4) AATEi e ABPIRTAE
Options :

920906110313. 1
920906110314. 2



920906110315. 3
920906110316. 4

Question Number : 80 Question Id : 92090627916 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following cyclones which hit Odisha in chronological order.

A Amphan B. Hudhud

3 Fani D. Super Cyclone

Choose the correct answer from the options given below :

(1) ADCEB

(2) D.ACB

(3) D ,CB A

4 D,BCA
Options :

920906110317. 1
920906110318. 2
920906110319. 3
920906110320. 4

Question Number : 80 Question Id : 92090627916 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS & de W THIA Il Iehaldl bl HIahH H Hafyd Sifou|

A B

B. gaga

C. Uil

D. YR HZFIH

= f2u g A gt o I Ot I BT 994 Bifwig
(1) A DCB

(2 DACGCB

(3 DCBA

(4 D,BCA

Options :



920906110317. 1
920906110318. 2
920906110319. 3
920906110320. 4

Question Number : 81 Question Id : 92090627917 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : National Disaster Reponse Force is world's single largest force
dedicated to disaster response.

Statement Il : National Disaster Response Force was not deployed during Nepal
earthquake due to diplomatic pressure of China on Nepal.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

4 Statement | is false but Statement Il is true

Options :

920906110321. 1
920906110322. 2
920906110323. 3
920906110324. 4

Question Number : 81 Question Id : 92090627917 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B EREIE LIS

FYF | : A TG Widfhar §a el Widfshar & FAtd J9R &1 0& 984 a1
qd gl

YA || ; AUTd YU & SR I JTIET Wiafhar §d 1 WaRT =urd 9= 94 &
MRS TaTd & HRUT g1 T 7T ol

IUIF HYA & AP O, - fGU 70 faswed] § 9 gl IR &1 99 $ifoe

(1) HYIR IS IAE
) YIRS 3T B
(3) BYTI T e, Al U 1l 3T E
4) HUYTINEI R AfbTFUT 1T
Options :
920906110321. 1
920906110322. 2

920906110323. 3
920906110324. 4

Question Number : 82 Question Id : 92090627918 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following about National Disaster Management Authority, carefully and identify
the correct statements.

It is headed by the Prime Minister of India
It is apex body for disaster management in India

It was set up as per mandate of Disaster Mangement Act, 2015

o N w P

It's logo is Ashok Pillar

Choose the correct answer from the options given below :

(1) A BandDonly
(2) AandBonly
(3) B and C only
(4) A, B and C only
Options :
920906110325. 1

920906110326. 2
920906110327. 3



920906110328. 4

Question Number : 82 Question Id : 92090627918 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR JTIST aeH Wiieau & Jeif # Fefifad &1 ufgu SR 981 HuH! i ugani-u|
A 3T HRGTT YR BT HUHER B

B. URd ¥ 3USI YatH & folY U8 Uah 2y TRIF g

C. THPI TG MIal ey ifUfam 2015 & SIUR far mr gl

D. 3Pl VeE-fg S WY Bl

+d fau U fasedi # O Ugl I &1 994 Hifolg ;
(1) PadA B3RD

(2) PIdAANRB

(3) FaAABARC

(4) FPAAA, B3R C
Options :

920906110325. 1
920906110326. 2
920906110327. 3
920906110328. 4

Question Number : 83 Question Id : 92090627919 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il ;

List | (Disaster) List Il (Region)
(A) Landslide I}  Malabar Coast
(B) Tsunami ll)  Kashmir Valley

(C) Heat Wave

(
(
()  Western Ghat
(

(D) Temperate Cyclones IV) Haryana Plains

Choose the correct answer from the options given below:

(1 A=, (B)-(), (©)-(V), (D)-()
2 (A-. (B)-(I). (O)-(1), (D)-(IV)
(3) (A, (B)-(1), (©)-(IV), (D)-(1N)
@) (A-aV), (B)-(l), (©)-(n, (D)-()

Options :

920906110329. 1
920906110330. 2
920906110331. 3
920906110332. 4

Question Number : 83 Question Id : 92090627919 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1 & g gt 1 &1 e Sifoe

ll-| (3uan) -1 (@)
(A)  Y-TFTH () HAER de
(B) g () HIHER =t
(€) T dEY (y fgrEt are
(D) iidwr asard (v) giamm &1 AgH
A9 fu e fasedl I 9 gt IR &1 994 BT

(1) (A)-(), B)-(1), (C)-(V), (D)-(1)
(2)  (A)-(I), B)-(), (C)-(1), (D)-(IV)
(3)  (A)-(m, (B)-(1), (©)-(IV), (D)-(lN)
4)  (A)-(IV), (B)-(I), (C)-(I1), (D)-(1)

Options :



920906110329. 1
920906110330. 2
920906110331. 3
920906110332. 4

Question Number : 84 Question Id : 92090627920 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Swadesh Darshan Scheme was launced in

(1) 2014-15 (2) 2018-19
(3) 2004-05 (4) 2009-10
Options :

920906110333. 1
920906110334. 2
920906110335. 3
920906110336. 4

Question Number : 84 Question Id : 92090627920 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W 2 O T & BT |

(1) 2014-15 (2) 2018-19

(3)  2004-05 (4) 2009-10
Options :

920906110333. 1
920906110334. 2
920906110335. 3
920906110336. 4

Question Number : 85 Question Id : 92090627921 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among all the monuments was the most visited monument in 2021-22 for
domestic visitors.

(1)  Red Fort (2) Taj Mahal
(3)  Udaipur Palace (4) Sun Temple Konark
Options :

920906110337. 1
920906110338. 2



920906110339. 3
920906110340. 4

Question Number : 85 Question Id : 92090627921 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il WRD! §, O a2e! gRT 2021-22 H a4 IS &1 T4 WRS gl
(1)  «rd faben (2) drHEd

3) JUR Hgd (4) T HeR, BIumh

Options :

920906110337. 1
920906110338. 2
920906110339. 3
920906110340. 4

Question Number : 86 Question Id : 92090627922 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT a New Tourism Product?

(1) Cruise (2) Medical and Wellness
(3) Rural tourism (4) Pilgrimage
Options :

920906110341. 1
920906110342. 2
920906110343. 3
920906110344. 4

Question Number : 86 Question Id : 92090627922 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 & &1 |1 ydied &1 Us 101 IdIE 8l 62

(1) & (2) Tafder vd F=9-89
(3)  wnfvgde @) uifife amn
Options :

920906110341. 1
920906110342. 2
920906110343. 3
920906110344. 4



Question Number : 87 Question Id : 92090627923 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In 2021, in India the maximum numbers of Foreign Tourist Arrivals (FTAs) were from

(1)  USA (2) Japan
(3) Russia (4) Bangladesh
Options :

920906110345. 1
920906110346. 2
920906110347. 3
920906110348. 4

Question Number : 87 Question Id : 92090627923 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2021 H, UG § 9a9 iU faezlt gded A (UHdi) g 9
(1 4quid (2) WIMMH

3) ¥4 (4) S

Options :

920906110345. 1
920906110346. 2
920906110347. 3
920906110348. 4

Question Number : 88 Question Id : 92090627924 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): The number of Foreign Tourist Arrivals (FTAs) decreased in 2021 as
compared to 2020.

Reasons (R) : There was steep rise in cost of air travel between 2020-2021

In the light of the above statements, choose the most appropriate answer from the
options given below :

(n Both (A) and (R) are true and (R) is the correct explanation of (4)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false
(4) (A) is false but (R) is true
Options :
920906110349. 1
920906110350. 2

920906110351. 3
920906110352. 4

Question Number : 88 Question Id : 92090627924 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T &1 4 U U §: U@ SIS (Assertion A) F &1 H faRad g o g1 I9H
PR (Reason R) & ®T H;:

JBYTA : 2021 H 2020 Bt o1 # facwit wdies raHT & =1 & 81 715 A
PRUIR : 2020-21 & HeI aR] A1 B ARt H i g gl 31 g |

SWRIE HY- & 3l H, - fGu e fasedl # 4 9a8 Iugdd IR &1 99+ Sife
(1)  ASRRGH A E AR R, A DI Fgl B §

2) ASRREHIGH g, Al R, A DI Tg! S T8l &

3) ATIE AfFIRITIE
4) ATIRIE APTRITTE

Options :

920906110349. 1
920906110350. 2
920906110351. 3



920906110352. 4

Question Number : 89 Question Id : 92090627925 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following places front East to West

A. Pushkar
B. Badrinath
c Kedarnath
D. Deoghar

Choose the correct answer from the options given below :

() CDAB

(2) D.B.CA

(3) CADB

(4 DCBA
Options :

920906110353. 1
920906110354. 2
920906110355. 3
920906110356. 4

Question Number : 89 Question Id : 92090627925 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 R 31 gd I ulgm &t 3R safeyd S|

A TER

B. wdlHIY

C. SeRAY

D. GdW

2 feu mu fasedl & & € SR &1 99 B ;
(1) CDAB

@) D,BCA

@) CADB

@) D,CBA

Options :

920906110353. 1
920906110354. 2
920906110355. 3
920906110356. 4

Question Number : 90 Question Id : 92090627926 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . In 2021 in Foreign Tourist Arrivals (FTAs) the male-female break-up
was about 60% male and 40% female.

Statement |l : In 2021, Foreign Tourist Arrivals (FTAs) were highest in age group
55 years and above.

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :



920906110357. 1
920906110358. 2
920906110359. 3
920906110360. 4

Question Number : 90 Question Id : 92090627926 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERACAICACURIIS

HYT | 2021 ¥, a2l WedsmrEl # Wi-0ey & B ST G @ HT 60% JEY
Ud 40% Tt i

S 11 : 2021 H, fac=l udes Al 2021 H 55 Y 41 36Y SHiUP Y T B wE&
T 31 ol |

JRIF $YA & edl$ H, 1< [0 T [dHdl # 9 el I &1 994 Hifoe

(1) SYFIARNIGAI I g

2) ®YA | R 1 G T &

(3) Y| §A g, Al S 1l A §
4) DY NI E, AP DU T ¢

Options :

920906110357. 1
920906110358. 2
920906110359. 3
920906110360. 4

Question Number : 91 Question Id : 92090627927 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | (Tourist destination) List Il (State)
(A) Parasnath (I Assam
(B) Kamakhya Temple (I Kerala
(C) Guruvayur (I} Odisha
(D) Konark (V) Jharkhand

Choose the correct answer from the options given below:

(1) (A=), (B)-(), (O-(V), (D)-(1)
(2)  (A)-(V), (B)-(D), (C)-(In), (D)-(11)
(3)  (A)-(V), (B)-(I), (C)-(), (D)-()
(4)  (A)-(1), (B)-(IV), (C)-(I1), (D)-(11)

Options :

920906110361. 1
920906110362. 2
920906110363. 3
920906110364. 4

Question Number : 91 Question Id : 92090627927 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | & 1 G 1| B I Siforg

El-| (Uded ®a@) -1l (@759)
(A) UG- () 3EH
(B) hHRE Hiex (1) &
© T®IR (IR
(D) HHIDH (Iv) IRES
it fau 71U f[dedi O 9 98! IR &1 94 Difig;

(1) (A=, (B)=(1N, (C)=(V). (D)=()
(2)  (A)-(V), (B)-(I), (C)-(1), (D)-(IN)
B)  (A)-(V), (B)-(1), (Q)-(l1), (D)-(H1)
@) (A=), (B)-(IV), (Q)-(l1), (D)-(11)

Options :
920906110361. 1
920906110362. 2



920906110363. 3
920906110364. 4

Question Number : 92 Question Id : 92090627928 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mational Green tribunal (NGT) was established in India in

(1) 2010 (2) 1992
(3) 2014 4) 2017
Options :

920906110365. 1
920906110366. 2
920906110367. 3
920906110368. 4

Question Number : 92 Question Id : 92090627928 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA H IP1g gRa ranfieur ot -ITe EEFRIES
(1 2010 (2) 1992

3) 2014 (4) 2017
Options :

920906110365. 1
920906110366. 2
920906110367. 3
920906110368. 4

Question Number : 93 Question Id : 92090627929 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 2002 World Summit on Sustainable Development was held at

(1 Rio de Janerio, Brazil (2) Johannesburg, South Africa
(3) Kyota, Japan (4) Paris, France
Options :

920906110369. 1
920906110370. 2
920906110371. 3
920906110372. 4



Question Number : 93 Question Id : 92090627929 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Idd UYe 11 3 W 3umia affie IwIeH 2002 &1 31aeH o foar mar |
(1) S eaia geid (2) SHg-TdT. GIeur 3rhidl

(3) el 9uH (4) URE, Wi

Options :

920906110369. 1
920906110370. 2
920906110371. 3
920906110372. 4

Question Number : 94 Question Id : 92090627930 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As key to combat climate change, Prime Ministery of India proposed a 'One — World

Movement', at COP26. This one word was

(1) PEACE (2) EQUITY
(3) LIFE (4) LOCAL
Options :

920906110373. 1
920906110374. 2
920906110375. 3
920906110376. 4

Question Number : 94 Question Id : 92090627930 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Searg gidde @1 FgRd 33 & e, YRd & UuFEEH §R1 coP-26 H U Tsg Sfala
yifad i maT | GE U Weg )

(1) gy (PEACE) (2) HHI (EQUITY)
(3) E’Héqa (LIFE) 4) diPd (LOCAL)
Options :

920906110373. 1
920906110374. 2
920906110375. 3
920906110376. 4



Question Number : 95 Question Id : 92090627931 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The outcome document of the United Nations Conference on Sustainable Development
(Rio+20) was

(1) QOur Common Future (2) Agenda 21
(3) Inclusive Growth (4) The Future We want
Options :

920906110377. 1
920906110378. 2
920906110379. 3
920906110380. 4

Question Number : 95 Question Id : 92090627931 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hdd WY1 fasra IR wged AP grie (Rdl+20) &1 URom gdras o |

(1) R g s (2) TSIUST21
3) GHEdM I (4) Hfdsr: o g7 =i
Options :

920906110377. 1
920906110378. 2
920906110379. 3
920906110380. 4

Question Number : 96 Question Id : 92090627932 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Earth's protective Ozone layer is slowly but noticeably healing.
Reasons (R) : The Montreal Protocol is one of the most successful global

environmental agreements in history.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is not false
(4) (A) is false but (R) is true
Options :
920906110381. 1
920906110382. 2

920906110383. 3
920906110384. 4

Question Number : 96 Question Id : 92090627932 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 o fU Y §: U 3@ (Assertion A) & w0 H fafad & df gavT 39
hRUT (Reason R) HEUH

HBUT A : Gl DI WP S WRd GR-4R [P e0H U I 8% g1 %] 8l

PRUIR : Hifeud WeeTd, dfiye wafaver gusidl & sfier ¥ a9y Iwa gaaial § 9
T3

JURITd HUA & 3HTdlp 1, Aid feu 71U fasmedl § I gl IR &1 984 diforg

(1) ASRRIHFITEIERR A DI TSl B 8
) A3RRSH TEl g AfBAR A P UG AT 781 §
3) ATEE AfFIRIETEE
4) AUSTEIE dfFARUE
Options :

920906110381. 1
920906110382. 2



920906110383. 3
920906110384. 4

Question Number : 97 Question Id : 92090627933 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following international events in chronological order.

A Convention on Biological Diversity.

B Brudtland Report

| %3 Global Warming of 1.5°C (Special Report)
D

Establishment of the United Mations Environment Programme

Choose the correct answer from the options given below :

(1) B.DCA
(2) D.B,AC
(3) D ABC
(4) DACB
Options :

920906110385. 1
920906110386. 2
920906110387. 3
920906110388. 4

Question Number : 97 Question Id : 92090627933 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FrafafEa siarivh gersit & Sradsmd § afud Sifog
A Sifas fafayd R ga@eH

B. §cdvs RUe

C. 1.5°C d% YAUSHY I (ALY RUrd)

D. HgE P UafaRvl SRIGH F1 RIGAT

e f&u 7o fadedi | T ULt 398 &1 99 Dol :
i) B.DEA

2) D,BAC

@) IDEBE

4y DACBH

Options :

920906110385. 1
920906110386. 2
920906110387. 3
920906110388. 4

Question Number : 98 Question Id : 92090627934 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement| : Rio+20 adopted guidelines on geen economy policies

Statement |l : Nationality Determined Contributions (MDCs) are related to efforts
of countries to achieve time-bound economic growth.

In the light of the above statements, choose the correct answer from the options
given below :

(n Both Statement | and Statement Il are true

(2) Both Statement | and Statement |l are false

(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true
Options :
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Identify the correct statements about the Sustainable Developments Goals, carefully.

A The Official Agenda for Suitable Development was adopted in 2015.
They include 15 Goals with 169 targets.

One of the Goals is to promote just, peaceful and inclusive societies.

o B O B

Officially they are known as Transforming Our World : The 2050 Agenda for
Sustainable Development.

Choose the correct answer from the options given below :

(1) B and C Only
(2) A BandCOnly
(3) B, C and D Only
(4) A and Cs Only
Options :
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Match List | with List Il :

List | (Millenium Development Goals) List Il (Theme)

(A) Goal 2 () Promote Gender Equality

(B) Goal 3 (I} Improve Maternal Health

(C) Goal5s (1Y Ensure Environmental
Sustainability

(D) Goal 7 {(IV) Achieve Universal

Primary Education
Choose the correct answer from the options given below:

(1) (A)-(V), (B)-(I), (C)-(1), (D)-(1)
(@) (A=), (B)-(IV), (C)-(1), (D)-(I)
(3)  (A)-(V), (B)-(1), (C)-(IN), (D)-(11)
(4) (A=), (B)-(). (Q-), (D)-(IV)

Options :
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Options :

(A)-(IV), (B)-(llN), (C)-(In), (D)-(1)
(A)-(11D), (B)-(IV), (C)-(D), (D)-(11)
(A)-(IV), (B)-(D), (C)-(11), (D)-(111)
(A)-(11D), (B)-(1), (C)-(In), (D)-(1V)
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